Studio Rondo
WUHCTPYKLMM NO yCTaHOBKE 3aMKa,/ OTBETHOM KOPOGKMU

3aMOoK NoCTaBNSIETCS CMOHTUPOBAHHBIM OJ1st
NpaBOCTOPOHHMX ABepeii. Y6eamTech, YTO Ha KPenexHom
NOBEPXHOCTU CTEK/A B MECTE YCTAHOBKM 3aMKa M OTBETHOM
KOPOOKUM HET cMa3ku. Mpu ycTaHOBKE 3aMKa U OTBETHOM
KOPOOGKU Ha CTEKIO BLIMOJHSAATE CReayoLLyo NpoLeaypy:

1. OTBEPHUTE NNACTMKOBYIO HAMPAaBASIOLLYIO HAXXMMHbIX
py4ek (3), pacnonoXeHHyio CO CTOPOHbI KPbILLKKW 6onbLuen
TONLWMHBI, C MOMOLLIbIO BXOASALLETO B KOMMIEKT YEPHOMO
naacTUKoOBOro Knto4a (4).

2. CHUMMTE KPbILWKY (5).

3. OTBEPHUTE BMHTbI C YTOMJIEHHLIMMW rONOBKamu (6) ¢
NMOMOLLbIO K/loYa-LIEeCTUrPaHHMKa Ha 4 MM 1 OTCOeauHUTE
3amok (11) oT oTBeTHOM NNacTuHbl (15).

4. Mpuknerite nonocky donbru (12) K nepeaHeMy KOHLY
3almMTHOM Npoknaakm (14) n 3aBepHUTE Ha3ag nam
ob6pexbTe BbICTyNaoLLyo ¢Gonbry. CHAMUTE 3aLUUTHYIO
donbry c camoknesieics nenHtol (13). YctaHoBUTE 3aMOK
Ha 3aLLMTHYIO MPOKIAAKY TaK, 4TOObl Oblna BUAHA HAAMUCH C
Heo6X0AVMbIM MONOXEHNEM 3aMKa. YCTaHOBUTE
3aXUMHYIO NNACTUHY (7) HAa 3aMOK U COEAVNHUTE NX C
OTBETHOW NNacTuHoM (15) C MOMOLLBIO BUHTOB C
YTOMJIEHHOW rONOBKOW (6).

MOMEHT 3aTsaXKM BUHTOB = 5 HM.

5. [1ns neBOCTOPOHHWX ABepeii: OTBEPHUTE N MOBEPHUTE
3aLenky (9), nocne yero cHoea 3adpuKcupyiite ee

C nomoLubto BUHTa (16).

BHUMAHME:

CkoLLeHHas CTOpOHa 3aLLesik1 AOSKHA ObiTb BCeraa
obpaLleHa K CTeky.

6. MNpwn ncnonb3oBaHMM py4ek-kHOBOB HEOOX0AMMO N3Me-
HWUTb NONTIOXEHWNE 60Ta YMEHbLUEHWNS CUJbl NPYXWUHBI (17):
MosepHuTe 60nT Ha 90° C MOMOLLBIO OTBEPTKMU.

7. Ecnv paHHbIli 3aMOK NpeaHasHavyeH ans npodusbHoOro
unnmHapa, yctaHoBuTe nocnegHui. MicnonbsyiTe ans
3TOr0 TONbKO BXOASLUMI B KOMIMIEKT BUHT C YTOM/IEHHOW
ronoskoii M5x35 (8). Bonee ANMHHLIA BUHT MOXET
3a610kMpoBaTb MEXaHN3M 3aMKa.

8. YcTaHoBUTE HA MECTO KpbILKy (5). [Ang 3amMkoB ¢
NPOPUIbHLIM LMANHAPOM 1 OTBETHOM KOPOOKOI OTBEPHUTE
YCTaHOBOYHbIE BMHTLI (10) C MOMOLLbIO KJTI04a-
wecTurpaHHmka Ha 1,5 mm.

9. 3akpenuTe NNacTUKOBYIO HANPAaBASIOLLYIO Pyyku (3)
C MOMOLLIbIO MIACTUKOBOIO Kito4a (4) U yCTaHOBUTE
HanpasAsoLLMe KObLA PYYKM (2) Ha HAXKUMHYIO PYYKY.

10. YcTaHOBUTE HAXMMHbIE PYYKK (1) (C NOMOLLbIO Kitoya-
LECTUrpaHHMKa Ha 3 MM).

WHCTPYKLWMM MO YyCTAaHOBKE METAN NPUBEAEHBI HA CTPaHULE 2.

DORMA-Glas

Studio Rondo
Mounting instructions lock / strike box

You receive a lock set, premounted for right hand doors.
Please make sure that the clamping surface of the glass is
grease free for the lock and the strike box. Please consider
the following steps when mounting it onto the glass:

1. Loosen the plastic guide piece for the lever handles (3)
on the high cap with enclosed black plastic key (4).

2. Remove cap (5).

3. Loosen the countersunk screws (6) with 4 mm Allan key
and remove the lock (11) from the counterplate (15).

4. Stick foil strip (12) to the protective strip (14) at the
leading edge and fold back or cut overhanging foil. Remove
protection foil from bonding sticker (13). Set lock onto the
protective strip so that the desired DIN direction is visible.
Set clamp plate (7) onto the lock and fasten both

countersunk screws (6) through clamp plate and lock against

counterplate (15).
Tightening torque of screws =5 Nm.

5. For use with left hand doors: Loosen and turn latch (9),
retighten with (16).

ATTENTION:

Bevelled side of latch must always point to the glass.

6. Adjust spring-strength-reduction (17) when using
knobhandles: Turn bolt 90° with screwdriver.

7. If lock for profile cylinder is supplied, now mount
cylinder. Use enclosed countersunk screw M5x35 (8) only. A
longer screw would block the lock mechanism.

8. Set cover cap (5). For lock with profile cylinder and strike
box loosen set screw (10) with 1.5 mm Allan key.

9. Fasten plastic handle guide piece (3) with plastic key (4)
and set handle guide rings (2) onto lever handle.

10. Mount lever handles (1) (3 mm Allan key).

For mounting instructions for hinge see page 2

800.52.051.6.32

60 61

Mpasas

Right hand (ISO 5)
JNesas

Left hand (1SO 6)

M3paHune/lssue 1002

CrpaHwuua/Page 1/2



Studio Rondo
WHCTpYKUMM No ycTaHOBKe neTnm

Y6enuTech, 4TO Ha KPEenexXHOon NOBEPXHOCTU CTeKNa B MecTe
YCTaHOBKW NeTesib HET CMa3kKu.

1. NMomecTuTe ABEPHOE NOMOTHO B pamy, YCTaHOBUB Er0
Ha 7-MUNIMMETPOBLIE MPOCTAaBKMU (HUXHMIA 3a30p), nocne
4Yero BbIPOBHSINTE CTOPOHbI.

2. HapeHbTe netnio (1) Ha BCTaBNEHHYIO B paMy 4acTb (2)
(oonXHa 3aKa3blBaTbCA OTAENbHO). (CHavana cmaxbTte 6oNT,
€CIN OH HE MOKPbIT MNAACTUKOM. [MOKPbITbIE MIACTUKOM
60nTbl He TPEBYIOT 06CNYXMBaHWS).

3. BcTasbTe nnacTukosble kKonbLa (3) B OTBEPCTUSA B CTEKNE
CHapyXu IBEPHOr0 NONIOTHA. 3aKkpenuTe 3aXMMHY0
nnacTuHy (4) BUHTaMK C YTOMSIEHHOM ronosko M6x22 (5) (c
MOMOLLBIO KJTI0Ya-LWeCcTUrpaHHmKa Ha 4 Mm) Ha neTne (1), He
3aTarueasi. BoIpoBHANTE NETIIO U 3aXKMMHYIO MACTUHY,
nocrne 4ero 3aTHWUTE BUHTBI.

MOMEHT 3aTsKKN BUHTOB = 12 HMm.

4. HapeHbTe KpbiLLKY (6) Ha 3aXXMMHYI0 MNacTuHy (4).

5. BcTaBbTe NnacTUKOBYIO KPbILLKY (7) B OTBEPCTME B NeTne
M HafeHbTe KPbILLKY (8) Ha yCTaHaBNMBaemyto B paMy 4acTb.

MNHCTpyKLUMM MO yCTaHOBKe 3amMka/ OTBETHOM KOPOOKM
npueeaeHbl Ha cTpaHuue 1.

Studio Rondo
Mounting instructions Hinge

Please make sure that the clamping surface of the glass is
grease free for the hinges.

1. Place door panel in the door frame onto 7 mm spacer
plates (lower clearance) and align sides.

2. Slide hinge (1) onto frame portion (2) (has to be ordered
separately). (First grease bolt if not plastic covered. Plastic
covered bolts are maintenance-free.)

3. Insert the plastic rings (3) into the glass holes from the
exterior side of the panel. Fasten clamp plate (4) with
countersunk screws M6x22 (5) (4 mm Allan key) loosely
against hinge (1). Align hinge and clamp plate, and screw
tightly.

Tightening torque of screws = 12 Nm

4. Press cap (6) onto clamp plate (4).

5. Press plastic cover cap (7) into hinge hole and slide cover
bush (8) onto frame portion.

For mounting instructions for lock/ strike box see page 1.

DORMA-Glas 800.52.051.6.32

T

Mpasas
Right hand (ISO 5)

\Jﬂ

JNesas
Left hand (I1SO 6)

N3paHune/Issue 1002 Ctpanuua/Page 2/2



